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Vi Semester B.Com. Examination, September 2020
(CBCS) (F+R) (2016-17 and Onwards)
COMMERCE
Paper — 6.6 : Elective Paper - IV : Cost Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in
English or in Kannada.

SECTION - A
TN - D

Answer any five sub-questions from the following. Each sub-question carries
2 marks. (5%x2=10)
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1. a) What is contribution ?
BRROR OcTTe 2

b) Define standard costing.
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c) State any two objectives of budgetary control.
'TooonE T, LoDeZ ' T CIRJTRTTR QTR YGBNTRD Jed.
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d) What is meant by Material Cost Variance ?
S Fed, I:RSBeTTER ?

e) What is cost reduction ?
::5 383 2053 ?

f) Give the meaning of activity based costing.
230TF S5203 Fof, AreFClT DFF R,
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g) What is a sales budget ?
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SECTION - B
TN - W

SE - 260

Answer any three of the following. Each question carries 6 marks. (3x6=18)
anRTSER oach RIneR toIon. Jd IIr 6 08N,

> From the following information calculate.

a) Profit volume ratio

b) Fixed costs

c) Sales volume to earn a profit of X 40,000
Sales ¥ 1,00,000
Profit ¥ 10,000
Variable cost 70%

53 39N IR0
a) ooy g TR
b) %&d :ui
c) T 40,000 ool SEeL0 SRTotis Be8 FoR0BR0D.
ZnootsT 1,00,000
oy T 10,000
2T [, Be. 70.
. The standard material required for producing 100 units is 120 kgs. A standard

price of ¥ 0.50 per kg is fixed and 240000 units were produced during the
period. Actual materials purchased were 3,00,000 Kgs, at a cost of ¥ 1,65,000.

Calculate :

a) Material cost variance

b) Material usage variance.

100 0t FRY 303080 120 $.cdee. 85 BN eiesardzds. 5 oid ¢.¢dpe. 1
Z0.50 203 ANO SRBLHNT =R B BRHONY, 240000 mawﬁ#a& Spvepiary
SHBRoR. wrHHN 3,00,000 8.dne, mm(‘)ﬁ#dgﬁ 1,65,000 neR dnomd
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4. Prepare a flexible budget for production 9000 units @ (90% capacity) on the
basis of following information

Production at 50% capacity 5,000 units

Raw materials ¥ 75 per unit

Direct labour T 45 per unit

Direct expenses X 20 per unit

Factory expenses X 60,000 (40% Fixed)
Administrative expenses T 40,000 (50% variable)

3INS D[TNE0T 9,000 <N (Se8mo 90) wordd 230 SODF,00 TLLOLF ICIROL.
PO T83E 50 8 W3, 5,000 03w TR
FTANY Fed, F& ceRERIT 75

o

RPN QTR 60,000 (40% 20)
4

0,000 (50% 233)

5. Briefly explain the limitations of Activity Based Costing (ABC).
BT soodd I8, (ABC)T ERTHNIR) RoFT=N D302

6. What are the essentials for success of cost control ?
523, oo escs 03,1 Leerdes @), So3nTRY ?
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SECTION-C
TN - &

Answer any three of the following. Each question carries 14 marks. (14%3=42)

oInPYToe AD ;gﬁ%’{ w30, B ge*g\ 14 =o3nh.

7. The Woodland Shoe Company sells different styles of ladies chappals with
identical purchase cost and selling price. The company wants to open another
shop which would have the following expenses and revenue relationship.

Selling price per pair ¥ 300
Variable cost per pair ¥ 195
Salesmen’s commission (variabie) X 15 per pair
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nses includeds — Rent X 60,000
Salary T 2,81,000
Advertisement ¥ 79,000
Sundries ¥ 30,000

You are required to calculate :
a) Annual BEP in units and sales value.
b) Profit or loss of the stores if 35,000 pair are sold.

ouledonteay R0 FoTACIN L0T3E BITOOI QDT D30 TLFOD wai@r(%gt SITITD,
FZQOT ONRER, BT QT OAT. AT edried FPNT0IR.
Reooes 25, (2,000 e X 300
VTN 533, (uocb ¥r3r) X 195
SN0 BEYP (2TRNO) (2,00 @e3r) X 15
’%d :3?% — w&n Y 60,000
Fow$ ¥ 2,81,000
23080CTBD ﬁ?b:d % 79,000
Q3T aﬁz?;? 30,000
B3 FSNSINTRY BorORERCWD !
a) TOXNFT ﬁa"o;’%% 203D CRAFIE, BRI YY),
b) 35,000 tind BTO RROAIDOTT o/ IH,

SE - 260
Fixed expe

8. Prepare a flexible budget from the following information for 12000 and 15000
units. For production of 10000 units, the expenses incurred are as follows :

Particulars Per unit
)
Direct material 60
Direct labour 30
Variable O. H. 25
Fixed overhead (X 1,50,000) 15
Variable expenses (Direct) 5
Selling expenses (10% fixed) 15
Administrative expenses (X 50,000 fixed for all level of production) 5
Distribution expenses (20% Fixed) 5
160

Total cost




[T 5. SE — 260

12000 cREF ) 15000 oL er B80S LoD DI F0TL@OW0. B4
39N a?a'g:dﬁ%i) 10000 o3 N ﬁeamaﬂd

2,073 ot
Q3TN (%)
S0 8o, AN 60
360 3RO 30
QTN &i 25
ggpd dzf.zfd % 1,50,000) 15
WS S0 W, 5
=00 I, (10% 9&0’) 15
A, BOBTOR, ?gpd eﬁcée?m@éé dzi (X 50,000) 5
D30 mw (20% %éd) 5
msod 33 160
b3

9. The information regarding composition and the weekly wage rates of labour
force engaged on a Job scheduled to be completed in 60 weeks are as follows :

Standard Actual
Workers No.of | Weekly wage No.of | Weekly wage rate
workers | rate per worker | workers per worker
Skilled 150 120 140 140
Semiskilled 90 80 60 100
Unskilled 120 60 160 40
The work was completed in 64 weeks.

Calculate :
a) labour cost variance

b) labour efficiency variance
c) labour mix variance.
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SORBR) 64 NP, BoNRORT, BEINTR FoREBOWO.
a) SowRd 33, F[EoD

b) @200 383 FZob

C) Word QB FZowm.

10. The budgeted overhead and cost driver volumes of Deeksha Ltd., are as follows :

Cost Pool Budgeted Cost driver Budgeted

overhead volume

4

Material procurement 4,05,000 No. of orders 900
Machine set-up 3,59,000  No. of set-ups 450
Maintenance 2,40,000 Maintenance hours 3,000
Quality control 1,40,000  No. of inspections 700
Machinery 4,80,000 No. of machine hours 24,000

The company has produced a batch of 2500 components of
cost was ¥ 1,10,000 and labour cost was ¥ 1 ,90,0
this batch are as follows :

‘X’ its material
00. The usage of activities of

Material order — 21, Set-ups of machine — 19, Mainte
No. of inspection 26, Machine hours 1300.

Calculate cost driver rates that are used for com
overhead to this batch and ascertain the cost of

using activity based costing.

nance hours 510,

puting appropriate amount of
the batch of the components
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ROTON D00 4,05,000  esed ot xost, 900
cdo03) MR 3,569,000  mEIY xo 450
QI BRODE 2,40,000 QBFIrE roLdned 3000
rOER0L, dLFeg 1,40,000  oegrEny Bozs 700
cDoZriEh 4,80,000 odogriv Bosd (rordned) 24000

FOTWAO3D 2,07 @d@&b@ 2080 Zo@a 2500 eonrshy, X’ cefantafalicievipleVling
Q0T MEOANY DdF T 1,10,000 03 Bed e3¢ T 1,90,000 vmodReNnuL
BEDWEIBNY T3 B3 T80T :
ROTN B — 21, obog TS — 19, dFFBE notdrnsd - 510, QegFED B, -
26, 003 suBciRert o — 1300 ot
S23, 108 3T L) TG BoIROFODAT Foeer HeIR, 230[esE G0 DDF
QFPDD0T FoIBBOD.
11. A) You are given the following data :

Sales price ¥ 350 per unit

Variable cost ¥ 200 per unit

Fixed expenses X 16,50,000

Ascertain :

a) Break even point

b) Sales per unit if BEP is brought upto 15000 units.
c) Sales per unit if BEP is brought down to 10000 units.

B0t IPNT RO, DeBOONT

Sroows 383 350 TS cheRe R

weprdE S, T 200 Fd 0w n

33 Dwbr o X 16,50,000

QRNIR), 5, Tob :

a) #d)ﬁ-‘o@é 20T

b) ReR$ ©om), 15000 odedts 7t 0w [Tt BT
c) mRE QORI 10000 cdedes R 9PN BRTIWR 33
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B) Moonlight Company Manufactures two products A and B, using cOaman
facilities the following cost data for a month are presented to you :

Product ‘A’ Product ‘B’

Units produced 1000 2000
Direct labour hours per unit 2 3
Machine hours per unit 6 1.5
Set up of machines 15 50
Orders 18 70

Machines activity expenses ¥ 3,00,000.
Set up related expenses ¥ 30,000.
Expenses relating to orders ¥ 35,000.

Calculate the overheads per unit absorbed using activity based costing
approach.

AORRT, FPORERD, evmodnent e S domn 0w FmErnh A 308 B o
NUBIORBTS, 20T EoNeS B 83 3980083,

‘A’ Is ‘B’ Ioegr

SUBIDATT CRRREF R 1000 2000
S0 800 Rotined BS cwRerr 2 3
B8 OLRREFR a0, Rotined 6 15
cBHo3Te mE 15 50
sty 18 70

030087 136303638 S0 T 3,00,000.

m@aﬂﬁﬁ R0WORAT e R T 30,000.

STEBNET RoLWoHIT NN T 35,000.

B 03RS oeen Dedr ey ABC m@daﬁg{ SOTO3REN BORIEGRAWO.
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